from wisval import #
ball = sphere(pos=(-5,10,0), radius=0 5, color=color.cysn)
wallE = box(pos=(0,0,0), size=(12,0.2,12), color=color.green)
ball . velocity = vector(1,0,0)
ball trail = cwve(color=ball. color)
deltat = 0,005
t=0
while t < 12:
rate(100)
12 ball . pos.y < wallB. pos.y:

#note to have the ball bounce realistically change the code below:
ball. velocity .y = ball . velocity.y

N
# to this: ball velocity.y = C*ball.velocity.y<— thig 1<

# where 'C' is & tunwadble parameter less than 1 E;{
udgn+
ball velocity.y = ball velocity.y - 9.8 * deltat Cod C/
ball.pos = ball.pos + ball velocity*deltat

ball. trail append(poseball pos)
print (t,ball.pos. y)
t =t + deltat

for e bq| wt uSCJ [ oimp — 09 m

rebound, b payamder P wonks
Swould e ~ p,g9

e mat s

2 2 \/2’ Vi +2 (0.8y ~0)
Vg;\/04zj(Y*Yn) 7 ?” ° AULY
Vir 29y 077 Vo +23(0:2)y
14 Yor = 0&Y Vo :W/(_]TX \/-flo)
Vs 29y o C= et eato




